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QUESTION 1

A Scrum Team has agreed on the following definition of Potentially Shippable:

Potentially Shippable increments must be tested and must meet the Conditions of Satisfaction provided by
the Product Owner.

Why is it important to include “tested\\' in the definition of what is Potentially Shippable?

A. Increments are not ‘Done\\' without testing for bugs.

B. Increments that have passed these tests will be sent out.

C. Testing shows how well the increments are integrated.

D. The increments must be tested to be cohesive.

Correct Answer: A

QUESTION 2

Why is a Product Owner not allowed to define the workload of the Development Team for a new Sprint?
A. This conflicts with the principle of Self-Management of the Development Team.

B. The Product Owner does not know the velocity of the Development Team.

C. The Scrum Master is responsible for the velocity of the Development Team.

D. The Scrum Master and the Product Owner must agree on the workload of the Development Team.

Correct Answer: A

QUESTION 3

As items are developed and removed from the top of the Product Backlog, the Product Backlog iceberg develops a flat
spot at the top and loses its shape.

What would be a necessary measure to counter this effect?
A. Creating a chart of the number of Product Backlog Items
B. Grooming the Product Backlog
C. Prioritizing the Product Backlog
D. Using an improvement Backlog

Correct Answer: B
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QUESTION 4

What is one of the risks if the Scrum Master is also a programmer on the team?
A. The Scrum Master does not have the required people skills.

B. The Scrum Master cannot stay away from critical path activities.

C. The Scrum Master tries to push through changes to the process.

Correct Answer: C

QUESTION 5

When two companies merge, there is often a lack of communication and transparency between locations. What can
best be done to reduce the risk of full-scale blow-ups between locations?

A. Establish the “connector role\\' within the team
B. Establish collaborating collocated teams

C. Establish deliberately collocated teams

D. Establish deliberately distributed teams

Correct Answer: A
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